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7 100kN/mM%#BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 4.76 59.31 | #nS | 000 ~ 0.00| 1.77 8.94 st 1.00 | 6.00 ~ 5.00 59.31 | =hLS\ | 5.00 ~ 5.00| 1.77 8.94
2 100kN/mM%#BZ % -~ -|3mEBZD -~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.92 74.06 | NS | 000 ~ 592 | 1.91 9.65 st 1.00 | .00 ~ 7.10 74.06 | TS | .00 ~ 7.10| 1.91 9.65
3 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ S| 3mEBZD ~
s 1.00 | 0.00 ~ 5.12 63.82 | FnLUSY |0oo ~ 512| 1.95 9.85 st 1.00 | 6.00 ~ 6.00 63.82 | Tnhst | 5,00 ~ 6.00)| 1.95 9.85
4 100kN/mi%E#2% | 1.00 | 000 ~ 114 117.26 |3m%E#BZ5 ~ -1 100kN/mM%&#z25 | 1.00 | 11.10 ~ 1470 11726 |3mZ#Bz5 ~
s 1.00 | 1.14 ~ 893 100.00 | #nlst | 0.00 ~ 893 | 2.36 11.95 st 1.00 | 6.00 ~ 1110 100.00 | =nLst | 6.00 ~ 1470 2.56 11.95
5 100kN/mM#E#BZ5 | 1.00 | 000 ~ 130 119.62 |3m%E#BZ 5 ~ -] 100kN/ %8825 | 1.00 | 1061 ~ 1500 119.62 |3m%E#BZ% ~
s 1.00 | 1.30 ~ 9.08 100.00 | =St | 0.00 ~ 9.08 | 2.31 11.67 st 1.00 | 6.00 ~ 1061 100.00 | =nst | 6.00 ~ 1500 2.51 11.67
P 100kN/m%E#BZ5| 1.00 000 ~ 068 11018 |3mEHEZD ~ -] 100kN/ %8825 | 1.00 | 1241 ~ 1560 | 110.18 |3m%E#BZ% ~
s 1.00 | 0.68 ~ 847 100.00 | =St | 000 ~ 847 | 2.11 10.67 st 1.00 | 6.00 ~ 1241 100.00 | =nst | 6.00 ~ 1560 2.11 10.67
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.76 85.48 | =hLs | 0.00 ~ 000 1.69 8.04 st 1.00 | 5.00 ~ 9.00 85.48 | =h4 | 5.00 ~ 9.00| 1.59 8.04
P 100kN/m%E#BZ5| 1.00| 000 ~ 116 117.50 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 1064 ~ 1450 117560 |3mE#BZ% ~
s 1.00 | 1.16 ~ 894 100.00 | =nlst | 000 ~ 894 | 2.12 10.70 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 1450| 2.12 10.70
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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